Math 115
Dusty Wilson
Practice problems for Test 1.

Overview: In order to succeed at Precalculus, you will need strong algebraic skills. These skills
are reviewed briefly and used extensively in this class, but you are expected to have these skills
when you enter the class — that is, algebra is prerequisite to Precalculus. Therefore, the first test
is designed to test some of the skills that I expect you to have. In order to solve these problems,
you will have to practice, and then practice some more.

So that you know what you are practicing for, I will explain a bit about Test #1. Test #1 will be
different from all subsequent tests in:

a.) Structure. The first test will contain 10 equations for you to solve: 2 linear, 2 quadratic, 2
radical, 2 literal equations, and 2 rational equations. Examples of linear equations are practice
problems #1 and #8, quadratic: #2 and #9, radical: #5 and #10, literal #6 and #7, and rational #3
and #4.

b.) Practice. The attached problems are sample problems like those that will be on the test. The
practice problems are similar but are not exactly like those the test will contain.

c.) Grading. Accuracy is very important in math — especially in areas that are prerequisite to this
course. Therefore, no partial credit will be given on the first test.

d.) Calculators. Calculators will be allowed on most (if not all) subsequent tests, however they
will not be allowed on Test #1.

Warning: Be sure to check all answers — not every ‘solution’ actually works. This is especially
important because you will receive no credit for a problem in which you list too many or too few
solutions. If there is no answer that satisfies the equation, write “no solution.”

Practice Problems for Test #1:
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